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g Al 1,431,685,674| 100.001,425,280,680| 100.00|  6,404,994|  0.45
Ml el ¢ 1,507,749 0.11 1,206,286/  0.08 301,463| 24.99
X| ghm & A 4,390,000/  0.31 3,090,000/ 022 1,300,000,  42.07
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X833t 645,122,821 4506 642,524,668 45.08 2,598,153|  0.40
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SHECIHAMEEXMHE Y 670,115 661,645 8,470 1.28
HRUEHO MZAY FZ 1,514,825 1,384,825 130,000, 9.39
AL SXAA BAXL 252 X2 344,400 336,000 8,400/ 2.50
E=0IAE 2YH| 4,877,393 5,124,479 N247,086| A4.82
ASISRME XY AFY 11,098,000/ 11,239,721 A141,721| A1.26
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X|dotsMEl 2HH| XY 7,999,180| 7,968,480 30,700, 0.39
X|gotsME EAINM XA 413,861 410,361 3,500/ 0.85
QESots 188 RIEXH 1,105,568/ 1,050,525 55,043| 5.24
FAUA S otssSEAHIA XA 2,770,461 2,772,041 A1,580 A0.06
olsESHMERY 5 82,399 123,200 A40,801| A33.12
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o_a\m) m % = = §= =
|_h_u > o o _ _ _r _r
o o o o <] <] < <l
|« <
o0} Lo (@) <t (@)} (@)
| S| R |88 8|2
NI ﬁ © | o]l ol o | | o
Klo <| © © o > o ©
— A (ep] — (ep]
E n_._u 4 -
M(
[o0] te} | | |
< <
Oa _/s
ENERE:
RO | =
ﬂ
| | (@) < (@)} (@]
S18|8|¢
G BRI
M_Mﬂ\ ™ — (ep)
=) —
A=
ERN
<3
IO W_ = ol
T i ~ | =
ELu mﬁ_ < K M
O _._._ -T- SN— o
B OLOF | |2 | W | W]
I I B = =
S| E | I
R O = N 1 =
< wr | or | o0 | of | o | o
o E_ﬁ Ko | ar |3 | &
% | O 0 0| -
B = A i B
KU KPR K
o | ™| o | o | o
N e T 1 O O
R | R0 |80 | & | & | RO

O =21A A3}

7,949 9,939%1H4 = A

ol &% Fa ARHE d4 SAUS D

]

L9

<

OJ, %)

A

C &

(9]

P—

=S|«

S 2 R18) 8 |8|5 5|8

Mo~ Y © o — o o o
Kog| © | < | 4

o =) o) — o S =) =)

= o ~ < o S S

N > 7} 0 - S <

T oo IV ¥o) fa\ © — 0
EREEG m

R

o =) o — ™ o o =)

Y o ¥s) 0 o S S S

i) - © N o & S ©

ol © ~ ™ oo} < < o @

—=| ©v o o N ~ o) > s

K0 0O - o N~ > < N~

N = § ||«

o ) N N N o o o

™ - ~ o) 0 o S S

] N o N ) ) S &

ol © < © 0 ~ o — <

= ™ o o N oo S o ~

AIL/A.n\ < — ~ ~~ S 0 ~

5 2 g ||

< =

m_ al

B X o o

o8 w2 || &

N ol K o 160 K4

= S B bl <l gl

5w | o of | T | &

K o _|_H_ = T 0

.__m__.o l__/l o_u._ o_o m % ﬂ AT

I_lu —_—

ol d <z |w |2 H

— || T | T | = | Xl wm | S

S I O T i I R I

< X | X | RO Klo = K oK

o | M| Ho _A_ooI ol | ° ] W __40

I L L T LV B U -

K|k | o/l | W K| | g

00 oK oK H~N I oll < <

M ol o KO <0 ol ol od

% | H H W< | Ko | H H H




e e i & | oo | G
AL 2" Mx|H| X & 50,000 - 50,000 &I+t
Eol2XAM T2 T 446,759 336,924 109,835 32.60
PR E Lt e 5,262,865 8,664,156 A3,401,291) A39.26
ZZ ool RHR| A EHR| 2 ALY 450,724 360,736 89,988 24.95
ZZatofol AIRMEME 29 212,000 244,000 A32,000] A13.11
= TojolZtEX|HME 29 258,649 253,100 5,549 2.19
Fofol =X FIIK ALY 495,614 487,335 8,279 1.70
Zofots LA EAHIA XA 2,867,770 2,728,434 139,336 5.11
ZofjotEs 7tE L=X|H 1,288,284 1,121,513 166,771 14.87
Hof R Apq olofgtetule x| x| 19,292 26,104 A6,812| A26.10
SetEOf ol 7S FAIX| 102,857 100,000 2,857| 2.86
Nacag S gamtl= = 70,000 67,500 2,500] 3.70
mofol =x|eZo{ X 46,131,016/ 45,050,002|  1,081,014| 2.40
HOfIAFAIY 2% 36,051,053| 36,246,662| A195,609 A0.54
SebEfof ol FZIEEAH|A K| 1,908,360 1,715,429 192,931 11.25
SEbRLOl O WntE EEALH[A 1,606,857| 1,552,571 54,286/ 3.50
T grEbRiofol FZIEHEAN|A 2R 10,000 - 10,000, A7
AlZtof ol otatat T2 AfeS 401,106] 401,107 A1| £0.00
ool Z AR BAN 7|52 1,587,551 584,638 1,002,913 171.54
ZZ ool X|AUES X AX YA 114,700 116,058 A1,358 A1.17
Hofol(ZFa)HSH 7152 1,000,000 319,150 680,850/ 213.33
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(A) (B) (C=A-B) |(C/Bx100)
Xlgte|l2 el MEst x| 76,000 74,248 1,752 2.36
B A AH 0] ALY 191,520 162,360 29,160 17.96
FAXAMH[A ZEH| 75,236 146,736 AT71,500 | A48.73
Al X GALEEA FAX M A 2,185,420 | 2,142,520 42,900 2.00
MasE aHxz A 256,285 264,508 18,223 A3.11
Chl 58 X @AY 907,842 736,950 170,892 23.19
MmAlMop AZEE| AL X ALY 2,709,000 | 2,787,000 | A78,000 | A2.80
& =I|I4A AY 2,104,002 | 1,472,801 631,201 42.86
XledehdiEef X2 200,750 210,000 A9,250 A4.40
ofstx} ol 2H| X[ 798,901 639,120 159,781 25.00
Sag ey eT=as Anl % 117,000 - 117,000 | A7
S=9Z27|3 X 690,000 407,000 283,000 69.53
x| SEA 2978 X 1,533,250 | 1,440,016 93,234 6.47
SEAEX[AME 2HH| X 153,800 154,600 A 800 N0.52
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(A) (B) (C=A-B) | (C/Bx100)
Metelz RMSAY 2 57,854 80,534 A22.680 | A28.16
MotAME 2 2Hx2 74,600 75,200 AB00 A0.80
AT R 2,857 5,714 £2,857 | A50.00
A e x| Yt AFRA Rt 350,000 - 350,000 Al
F2LH9 HAe|ZMEFY MXH|E X[ 121,429 - 121,429 Al
HAAZLSX|ME 2lHes 1,404,928 | 1,208,928 196,000 16.21
HAREE =T|X2X|H - 28,000 A28,000 |A100.00
dMelel x|ZH|X|& - 14,000 A14,000 |A100.00
S=d H8xd - 19,600 A19,600 |A100.00
AR e x| 2X| YA X[ EH| XA - 28,000 A28,000 |A100.00
AR x| Z2H| X 89,600 - 89,600 Al
SEHYE 2Y 206,395 - 206,395 Al
HAURLAAME 2H X 7,181,269 7,278,499 97,230 N1.34
HAEAANN 7|s2Z 604,091 - 604,091 Al
X|ofobalME] 2 x| @ 8,973,300 | 9,240,000 | A266,700 | A2.89
T H E 2 ZIA ALY 32,360 32,240 120 0.37
Za|x|2 2t Qlelx| =] 56,000 47,154 8,846 18.76
AEUEH UAXZHY HZFX| 62,000 75,700 A13,700 | A18.10
F2LH9 A x| =H| XY 98,462 3,076 95,386 [3,100.98
Tt LYHE AA| 14,633,865 | 14,512,324 121,541 0.84
2HS SATFSA X 2,200,000 600,000 1,600,000 | 266.67
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=X[RED} (15374%) JioEix|ME 2% | 562,621 537,917|  24,704| 4.59
SX|Mn} (15493%) HECH| 7IsEZA A 198,305 153,900 44 405| 28.85
_ =20 EAF 742
=xgam| (S0P IFEESNSESEE | s.o000 - 5000 a7
A 65p HEo| x| _
sxmam (PP (S diolal B xis | 362,400 362,400 A7
P (16776%) Z 29X 7| 0| AbY 436,230  56,520| 379.710| 671.82
=x = =SHE
worsopernt (880 |BESEERBES | 787352 774,803 12,549 1.62
wolzlofela} (16885%) Aljot2® MxlH| x|l 50,000 - 50,000 A7
= = x}
ol (Gl S S ae 2o | 212,000 244,000 432,000 A13.11
olziofeLa} (27035pp) %@%EEE')’HH‘% 1,000,000 319.150| 680,850/ 213.33
Fod by 1 2
ErarsLn! (27286pp) %'P_Er?g {;'-fug 350,000 -| 350,000, 4l
K RDEE HEARY S LB H o
K BAER T &F G2 o4 A 2870 AFG Uy >
Mo | 7[5 |BuEd | S48
B ad o of o of o o = S A
TAE | A EAIA A E (A) B) | (C=AB) | (CBx100)
Jedcir MIAES
SxEEm 6dp G e S ~| 188,048 | A188,048/A100.00
J2dCiR MIHES
=x |-} 64p f,g_%&’iﬁgj?r ) _| 60,745 | ~60,745 |A100.00
AR} 78p RMAIRISH 7| x| 2|2 ~| 28,000 | A28,000 |A100.00
H7Axdal ) 78p sixiolel x|2H|x|Y ~| 14,000 | A14,000 |A100.00
[rarsmt 79p saoly u|2xY - 19.600 | ~19.600 |~100.00
MA|I RIS x| =
[ ParSen! 790 ﬁ_@'ﬁ%%‘ﬁﬂ ,';lf% ~| 28,000 | ~A28,000 |~100.00




